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Find the error exercise for IBPS PO Pre, IBPS SO 
Pre, IBPS Clerk, SBI PO Pre and SBI Clerk 

FIND THE ERROR QUIZ 46 

Directions: In each of the questions, a sentence has been divided into four parts, 

one of which may contain an error. Identify that fragment and mark it as your 

answer. The words in bold are contextually and grammatically correct. Mark (E) if 

the sentence contains no error. 

(1). Forecasting for the year 2050, a UN report estimates that the percentage 

of urban residents in India would be 52.8 while Delhi would edge past 

Tokyo as the world’s more populous city by 2028. 

A. Forecasting for the year 2050, a UN report estimates 

B. that the percentage of urban residents in India 

C. would be 52.8 while Delhi would edge past 

D. Tokyo as the world’s more populous city by 2028. 

E. No error 

(2). Small businesses, which account for a major part of the export universe, 

are being made to invest a disproportionate amount of time, money and 

resources on GST compliance. 

A. Small businesses, which account for a major part 

B. of the export universe, are being made to 

C. invest a disproportionate amount of time, 

D. money and resources on GST compliance. 

E. No error 

(3). While farm loan waivers appear to be the popular and instant solution to 

calm dissent, they only provide temporary relief and do little to enchant 

income or prevent future distress.  



 

 

A. While farm loan waivers appear to be the 

B. popular and instant solution to calm dissent, 

C. they only provide temporary relief and do 

D. little to enchant income or prevent future distress. 

E. No error 

(4). Sluggish rural wages and sub-normal performance of the sector refers 

subdued non-farm rural activity and income. 

A. Sluggish rural wages and sub-normal 

B. performance of the sector 

C. refers subdued non-farm 

D. rural activity and income. 

E. No error 

(5). If judges are allowed to easily depart from precedence, citizens might 

find themselves in an impossible position, where the statement of law 

remains prone to the constant vagaries of human interpretation. 

A. If judges are allowed to easily depart from precedence, 

B. citizens might find themselves in an impossible 

C. position, where the statement of law remains 

D. prone to the constant vagaries of human interpretation. 

E. No error 

(6). The Centres somewhat liberal estimate shows over 60% of about 25,000 

tonnes of plastic waste generated daily is collected which essentially 

means a staggering 10,000 tonnes of trash is being released into the 

environment, with a lot of it going into the sea. 

A. The Centres somewhat liberal estimate shows over 60% of about 

B. 25,000 tonnes of plastic waste generated daily is collected which 



 

 

C. essentially means a staggering 10,000 tonnes of trash is being 

D. released into the environment, with a lot of it going into the sea. 

E. No error 

(7). The Taliban’s announcement of a three-day ceasefire with Afghan 

government troops for Eid, two days after President Ashraf Ghani 

declared an unconditional week-long ceasefire, is a glimmer for hope for 

a breakthrough in the long-struggling peace process. 

A. The Taliban’s announcement of a three-day ceasefire with Afghan 

B. government troops for Eid, two days after President Ashraf 

C. Ghani declared an unconditional week-long ceasefire, is a glimmer 

D. for hope for a breakthrough in the long-struggling peace process. 

E. No error 

(8). The World Bank has warned that the effect of the increased use of tariffs 

to regulate international trade could be similar as the significant drop in 

global trade after the financial crisis a decade ago. 

A. The World Bank has warned that the effect of the 

B. increased use of tariffs to regulate international 

C. trade could be similar as the significant drop in 

D. global trade after the financial crisis a decade ago. 

E. No error 

(9). While the European Commission is mulling the option of imposing 

import duties on American goods if the trade war with the U.S. 

intensifies, it is not alone in waging a battle against imports from the U.S. 

with nations like China, Mexico and Canada following suit. 

A. While the European Commission is mulling the option of imposing 

B. import duties on American goods if the trade war with the U.S. 



 

 

C. intensifies, it is not alone in waging a battle against imports from the 

D. U.S. with nations like China, Mexico and Canada following suit. 

E. No error 

(10). Mediation is a process of resolution of disputes by the parties to them 

and involves moving out of the loop of allegations and counter-

allegations and assessing where interests lie in resolving the disputes. 

A. Mediation is a process of resolution of 

B. disputes by the parties to them and involves 

C. moving out of the loop of allegations and 

D. counter-allegations and assessing where 

E. No error 

 

 

 

 

 

 

  



 

 

Correct answers: 
1 2 3 4 5 6 7 8 9 10 
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Correct answers: 
 

1. 
 
Fragment D is erroneous due to use of more (comparative) instead of most 
(superlative). When the comparison is between more than two items/things, we always 
use the superlative form. 
 
Correct statement: Forecasting for the year 2050, a UN report estimates that the 
percentage of urban residents in India would be 52.8 while Delhi would edge past Tokyo 
as the world’s most populous city by 2028. 
 
Hence, option D is correct. 
 

2. 
 
The statement is correct in its original form and has no error. 
 
Hence, option E is correct. 
 

3. 
 
Fragment D has an error with respect to the use of enchant which means to fill 
(someone) with great delight/ charm. 
 
Eg: She was enchanted with the idea. 
 
Here, the correct word would be enhance which means to intensify/ increase. 
 
Correct statement: While farm loan waivers appear to be the popular and instant 
solution to calm dissent, they only provide temporary relief and do little 
to enhance income or prevent future distress. 
 
Hence, option D is correct. 
 

4. 
 
Fragment C contains an error with respect to use of refers. Refers is to be followed 
by to. The correct phrase would be implies. 



 

 

 
Correct statement: Sluggish rural wages and sub-normal performance of the 
sector implies subdued non-farm rural activity and income. 
 
Hence, option C is correct.  
 

5. 
 
Fragment A is incorrect as instead of precedence which means being considered more 
important than someone or something else, the word to be used 
is precedent meaning an earlier event or action that is regarded as an example or guide 
to be considered in subsequent similar circumstances. 
 
Correct statement: If judges are allowed to easily depart from precedent, citizens might 
find themselves in an impossible position, where the statement of law remains prone to 
the constant vagaries of human interpretation. 
 
Hence, option A is correct. 
 

6. 
 
The error is in fragment A with respect to the use of the apostrophe. 
The correct form would be Centre’s instead of Centres. Centres refers to the 
multiple/plural form which is incorrect as only One Central Government is logically 
possible. 
 
Correct statement: The Centre’s somewhat liberal estimate shows over 60% of about 
25,000 tonnes of plastic waste generated daily is collected which essentially means a 
staggering 10,000 tonnes of trash is being released into the environment, with a lot of it 
going into the sea. 
 
Hence, option A contains the error.  
 

7. 
 
The error is in fragment D. The correct phrase is ‘glimmer of hope’ instead of ‘glimmer 
for hope’. 
 
Glimmer of hope: A very small sign that something might improve or succeed. 
 
Eg: The survey reports a glimmer of hope for the small business sector. 
 
Correct statement: The Taliban’s announcement of a three-day ceasefire with Afghan 



 

 

government troops for Eid, two days after President Ashraf Ghani declared an 
unconditional week-long ceasefire, is a glimmer of hope for a breakthrough in the long-
struggling peace process. 
 
Hence, option D is correct.  
 

8. 
 
Fragment C contains an error. Here, we are comparing the increasing use of regulations 
in international trade to the decrease in global trade post a financial crisis. To compare, 
the correct phrase would be ‘be similar to the’. 
 
Correct statement: The World Bank has warned that the effect of the increased use of 
tariffs to regulate international trade could be similar to the significant drop in global 
trade after the financial crisis a decade ago. 
 
Hence, option C has the error. 
 

9. 
 
The statement is correct with no error in any of the fragments. 
 
Hence, option E is correct. 

  
10. 
 
All of the fragments are correct and do not contain any error. 
  
Hence, option E is correct. 
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